
• • ■ Bebiebsdaten: 
Typlcal operatton: 
Exemple d'ntlllsatlon: 

6 V 6 1 KT 61 
01 . . 6,3 . . 6.3 V 
lt . . 0.45 . 0,95 A 
Ua .. +250 + 250 V= 
Ugt . -12.5 . -4,4 V= 
Ug2. +250 + 250 V= 
la . . . 45 . 40 mA 
lg2 . . 4,5 .. 7,5 mA 
S . . . 4,1 10 mA/V 
Ri. • • 52 . k.Q 
Ra . 5 6 k.Q 
Rk . t/50 90 Q 

Grenzdaten: 
Rattngs: / Condltlons mlllima: 

Ua. +3151. 
Ug2. +285 
Na . . 12 
Ng2 2 
91. 4,5 

bei d . 8 
Dtk 90 

V= 
V= 
M . w 

.4,3W 

.10% 

.• V 

• 

• Patent-Röhrenprüfer Modell W19 

6V6 
6V6G 
6 V 6 GT 
6 V 6 GT/G 

VT-107 
VT-107 B 
VT-107 A 
6 V 6 GTX 

• 
Prüfdaten: 
Test operatlon: 
Verlllcalion: 

Ut . 
Ua . 
Ugt . 
Üg2 . 

• 

6,3 V"' 
+200V= 

0&-2 V= 
+100 V= 

MAX FUNKE, Adenau-Eifel . r. 53. 

KT 61 6AY5 
6 AY 5 GT 

nd-Pentode / Output Pentode / Pentode de puissance. • ?- IG u t 
· _ Good /Bon -► 

10 20 30 

• 
In Stellung 13 

auJ Steuerwükung 
prüfen 

In position 13 is to 
prove the conlrol grld. 
En position 13 verifier 
l'aclion de commanda da la 

grille . 

• 

50mll 

• 

0-. 
0-. 
CD 


